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Angle between g and p_miss vs p_tg_momentum

what it should be?
p_miss_i = q_i — p_tg_i for(i=x,y,z)



q_theta p_miss_theta Y T —
L l Entries e 1383467 60000,_
250001 r
- 500001
200002— 40000
15000:— 30000
100001 200002—
5000} 100001
:III I\‘Illllllll\\ll\llllll \IIlIII O]tlll I\l\\\\‘\l\\l\ll III|
9042 44 46 48 50 52 54 56 58 60 0 10 20 30 40 50 60
q_theta [deg] Kin.p_miss_angle
g_angle (degree) p_miss_angle (deg)
q_theta2
x10°
1201
100_—
L [ q_theta? |
80— [ Entries 133467 |
60|
[ b miss heta |
[ Entries 1489216 |
40
20/
D_IIII IIII|IIII|III IIII|IIII|IIII|IIII
0 10 20 30 40 50 60 70 80 90
q_theta [deg]
g_angle (green) , p_miss_angle(blue)




qp_angle_deg_vs_p_recoil_ct qp_angle deg vs_p_recoil_bg

™ 90 C [ ao_angle_deq_ve_p _recall_ct = 20 C [ ao_angle_deq_ve_p_recoil_bg
£ C Entres 42455 40 z L Entries 25714 35
5 r = r
=] r =] r
= 80 - —{35 g 80 - —30
4 r g C
S C —30 S C
T 70— 3 70 1%
2 C 25 g C
- = 20
60— _op 60—~ -
L L —15
50 - 50 -
o F 10
40 :— 40 :— 5
_I 11 | Il.r I| | 1 -I 1 | I| 11 | 11 | | .I 11 | 11 1 | 1 : 111 | ill-l. Illll I. 11 I 111 | 11 1 | 111 | 11 1 | 1
300 0.6 08 1 1.2 14 300 0.2 04 06 08 1 1.2 14 0
p_tg [GeV/c] p_tg [GeV/c]
gp_angle_deg_vs_p_recoil_ct
O 90 L [ 1esl_sub
£ L Entries 16764 I
T I 10
£ 8o ]
o F ]
Sk ]
S 70 -
g T
60
50
40F
3 C 111 | ‘I“ I ‘I | 1 -I 1 | ‘I 11 | 111 | -I 11 | 111 | 1
GO 02 04 06 08 1 1.2 14

p_tg [GeVic]

recoil_p — q angle vs p_tg



